Teden C .ok

l.a kem fiz geo nem slo zgo mat
1.b zgo vik vik slo kem fiz geo
4 1.c slo geo fiz kem nem ang zgo
g ~12.a ang mat nem Svz Svz bio slo
% § 2.b mat ang slo nem geo zgo ru
@ 2|3.a Svz bio zgo ang slo geo mat
g M ED ang Svz Svz bio mat vik vik
O 3¢ nem zgo bio vik vik Svz Svz
4.a| bio2/geo/ nem ang zg0 vik/slo vik/slo aV/bio2/
4.b| n3/nV ang vik/slo vik/slo 20 mat noOV
1 2 3 4 5 6 7 8
l.a| inf/lum inf/lum bio ang mat vik vik
1.b nem bio inf/lum inf/lum ang mat fiz
1.c bio vik vik mat Svz inf/inf slo
~a 2.a nem mat geo zgo lat/Spa slo ang
8 & 2.b nem mat Spa slo ang bio
O 2|3.a vik fil/psi fiz kem vik nem lat
M EY kem fiz zgo psi mat slo nem
3.c mat Spa psi ang kem fiz slo
4.a| fil/dvz mat ang $vz/RU/psi zg0 §2a%11/5m /3V6/zg0/psi/
4.b ang fil/psi slo/mV mat nem kem/n47/%27014/8m)
1 2 3 4 5 6 7 8
l.a mat nem kem lat slo fiz ---
1.b --- kem nem geo ang zgo slo
1.c kem mat mat ang fiz slo zgo
© s 2.a slo gla mat fiz kem vik vik
© 2|2.b nem slo gla vik vik kem fiz
8 2 3.a ru mat slo nem Svz Svz bio
M ET) mat nem** Svz slo ru bio** geo
3.c mat slo nem Svz bio geo DSD
4.a | §1422/8m) /hio1 /fiz/a0?/ slo/mV ang nem mat slo
4.b g e ang nem mat slo $vz/RU
1 2 3 4 5 6 7 8
l.a ang Svz Svz geo ru zgo slo
1.b Spa mat mat Spa slo Svz Svz
1l.c ang Spa slo ru geo nem
X _|2.a Svz 280 nem ang mat bio
g § 2.b geo nem zgo Svz bio mat ang
E ; 3.a ang slo lat mat 280 kem fiz
O ~|3.b DSD ang slo fiz kem 280 Spa
3.c ru kem fiz slo ang Spa 280
4.a| aV/biol o slo mat slo/mO an
4.b ﬁZ/§/1b(5f/2/m) nOV/geo/bio2/$30m" 780 slo a/ng sIo/riO
1 2 3 4 5 6 7 8
1.a lat bio mat slo ang inf/inf Svz
1.b Svz inf/inf bio mat slo ang ru
1.c bio $pa inf/lum inf/lum Svz $vz mat
~ o 2.a nem ru fiz kem geo lat/Spa slo
B 3(2.b kem vz vz fiz mat slo $pa
QO <|3.a slo fil/psi geo ang nem mat DSD
Q = 3.b psi geo slo Spa ang nem mat
3.c geo slo psi mat mat ang nem
4.a fil/psi mat slo nem . . n2%/zgo/psi/
4.b mat fil/psi nem slo Dol kem/a07g/§2f>7(4f/3m’
URE 7.20 - 8.05 8.10-8.55 9.00 - 9.45 10.05-10.50 10.55-11.40 11.45-12.30 I% 13.50-14.35




